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Manufacturing of large-sized solar furnace
and development of hydrogen production technology using solar thermal energy
*1 *1

Hiroyuki MUROOKA, Tatsuo SHIGETA
Abstract
The hydrogen production was tried by the reaction of the material and the water generated by the material
reaction at the ultrahigh temperature. A clean, unlimited sunlight is collected with a Fresnel lens and *“Solar
furnace” produces ultrahigh temperature. The solar furnace is composed of the plane Fresnel lens 1.40 m in
length and 1.05 m in width and the reactor core box containing the crucible for heat reduction reaction. It was
made to react at the temperature about 1,800 in the crucible. As a result, the data about the rate of an
iron oxide suitable for generating of hydrogen by disassembly of water and the data of the required time for
mechanical alloying were able to be obtained. Moreover, large-sized 10kW solar furnace was designed and
manufactured for development of future research, and the prospect utilizable for the research on a heat

reduction reaction and on processing of various toxic substances etc. were acquired.
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